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Question Id : 3421237805 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table shows the mumber of viewers of four different TV channels, namely, JIO,
ZEE, SONY and COLORS in six different cities A-F, along with the ratio male (M) to females
(F) among them. Based on the data in the tables, answer the questions that follow:

City-wise Details of Viewers

Viewers of TV Channel
City 10 ZEE SONY | COLORS
Total | M:F | Total | MCF [ Total [M:F | Total | M:F
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Sub questions

Question Number : 1 Question Id : 3421237806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the average number of female viewers of Zee TV taking all six cities together?

1. 1242

]

. 1262
3. 1282

4. 1302

Question Number : 2 Question Id : 3421237807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The total number of female viewers of COLORS TV from city C is approximately % of
the total number of female viewers of JIO from city A.

1.82
2. 88
3.96

4. 108

Question Number : 3 Question Id : 3421237808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The average number of male viewers of SONY TV from all the six cities together is
approximately % of the six cities of viewers of JIO TV from city D.

1. 30

Question Number : 4 Question Id : 3421237809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The number of male viewers of ZEE TV from city C is approximately % more than
the number of female viewers of SONY TV from city F?

1.124
2.15.2
3.173
4.18.6

Question Number : 5 Question Id : 3421237810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the difference between the total number of male viewers and female viewers of ZEE TV
from all six cities?

1.710
2.704
3.706

4.708

Question Id : 3421237805 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 3421237806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 1242
2. 1262
3.1282
4. 1302

Question Number : 2 Question Id : 3421237807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 82

3.96

4. 108

Question Number : 3 Question Id : 3421237808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 4 Question Id : 3421237809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.124
2.152
3,115

4.18.6

Question Number : 5 Question Id : 3421237810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.710
2.704
3. 706

4.708

Sub-Section Number : 2
Sub-Section Id : 342123310
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421237811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Terms Meaning
A Declm‘at_n‘e I. | The retention of information about the where and when of life's happenings
Memory
B. el Il | Astudent's general knowledge about the world
Memory G 2

The conscious recollection of information such as specific facts or events

. |Benchs Memory: | 1 that can be verbally communicated

D. |Semantic Memory | IV. [Knowledge in the form of skills and cognitive operations

Choose the eorrect answer from the options given below:
[. A-IV, B-IIL, C-I1, D-I
2. AL B-IV, C-1, D-II
3. A-IL, B-IIT, C-IV, D-1
4. AL B-IL C-IIL, D-IV

Question Number : 6 Question Id : 3421237811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt 1 91 G 1 1 e Bifere
I i
¥ 9
A |TVESFA | 1 |Slgd &1 geIe B Bl AR B B SR H G & FRU0

B |PRGR@ i | 1L [0y IR Ud B & 99 7
TMlisczch $U ¥ walTs ol Feb1 T A7 el R eI ot a1 il

C. |qeTeg§fd |1

Taid TR
) H‘”%ﬂﬁw IV | e S S e e A
+rd U U fadhedl 4 WGt IR & 94 Bife:

L. A-IV, B-IIL, C-II, D-1I
2. A-IIL B-IV, C-I, D-II
3. AL B-IIL, C-IV, D-I

4. A-L B-II, CII1, D-IV

Question Number : 7 Question Id : 3421237812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Use of learning strategies and tactics reflects:

1. Intellectual Humility

[

. Overlearning
3. Rote laerning

4. Meta cognitive knowledge

Question Number : 7 Question Id : 3421237812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 3421237813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
Swayamprabha DTH Channel No Channel Name
A | Channel - 03 I. |VIDHIK
B. |Channel - 06 II. JARYABHATT
C. | Channel - 07 III. [EAUTILIYA
D. |Channel - 08 IV. |PRABANDHAN

Choose the correct answer from the options given below:

1. A-II, B-IV, C-III, D-I

(]

. A-III, B-I1, C-IV, D-1
3. A-1IV, B-1, C-1II, D-11

4. A-IV, B-1II, C-II, D-I

Question Number : 8 Question Id : 3421237813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IL, B-IV, C-111, D-1

[

. A-IIL B-11, C-1IV, D-1

[

. A-IV, B-1, C-III, D-II

4. A-IV, B-111, C-1II, D-I

Question Number : 9 Question Id : 3421237814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the explanations of Pedagogical Teacher's Dilemmas of
constructivism in practice?

A. Developing deeper knowledge of subject matter

B. Managing new ideas of discourse and collaborative work in the classroom

C. Honoring students attempt to think for themselves which remaining faithful to the accepted
disciplinary ideas

D. Mastering the art of facilitation

E. Confronting issues of accountability with various stakeholders in the school community

Choose the correct answer from the options given below:

I.A, B,CandD only
2.D, and E only
3.A,Band C only

4.B.Cand E only



Question Number : 9 Question Id : 3421237814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 10 Question Id : 3421237815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A physics instructor needs to create International videos demonstrating Newton's law of motion.
Which tool should the instructor use to record, edit and share these videos with students.

L. Flipgrid
2. Camtasia

3. Padlet

4. Google forms

Question Number : 10 Question Id : 3421237815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 11 Question Id : 3421237816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research designs would allow systematic elimination of extraneous
varlables other than those you are interested in?

. Longitudinal research
2. Qualitative research
3. Correlational research

4. Experimental research

Question Number : 11 Question Id : 3421237816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 12 Question Id : 3421237817 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Which among the following research designs are likely to suffer from the problem of sample
attrition?

A. Cross-sectional studies
B. Longitudinal studies
C. Panel studies

D. Cohort studies

Choose the correct answer from the options given below:

I. Aand B only
2.A,Band D only
3.A, Cand D only

4.B, Cand D only

Question Number : 12 Question Id : 3421237817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 13 Question Id : 3421237818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



When the characteristic like age, sex or race of the researcher affect the behaviour of a
participants in a study, it refers to

1. Biosocial effect
2. Psychological effect
3. Hawthorn effect

4. Evaluation apprehension

Question Number : 13 Question Id : 3421237818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 14 Question Id : 3421237819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the ordinal variables.

A. Rank of army personnel
B. Religion

C. Caste

D. Annovance level

E. Temperature in Celsius

Choose the correct answer from the options given below:

1. A, B, CandD only

(]

. B and C only
3. A, and D only

4. D and E only

Question Number : 14 Question Id : 3421237819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 15 Question Id : 3421237820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a situation where a researcher wants to test whether the population mean is lower than some
hypothesized value, the researcher would employ-

1. Z- tailed test
2. Left tailed test
3. Right tailed test

4. F- test

Question Number : 15 Question Id : 3421237820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 16 Question Id : 3421237821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The semiotic study of Charles Pierce is in its approach:
1. Experimental

2. Historical

[

. Quasi legal

4. Quasi- scientific

Question Number : 16 Question Id : 3421237821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 17 Question Id : 3421237822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The concept of explanatory journalism attempts to answer more-

1. “Why’ questions

[

. “Where’ questions

(5]

. “Which’ questions

4. *Who’ questions

Question Number : 17 Question Id : 3421237822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 18 Question Id : 3421237823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are statements made by scholars in relation to media-audience equations?

A. New media are natural and social

B. People are polite to well-designed computer

C. The relationship between communication gadgets and people is passive
D. The new media technology has created a kind of techno-spirit

E. The techno-media environment is an ideal environment

Choose the correct answer from the options given below:
1.A,D,Eonly
2.C, D, E onlyu
3.B,.C,E only

4.A,B,C,Donly

Question Number : 18 Question Id : 3421237823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 19 Question Id : 3421237824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological order of the following inventions related to communication:

A. Cable television
B. Telegraph

C. Telephone
D.MP3

E. Phonograph

Choose the correct answer from the options given below:
I.A,C.D.B.E
2.B,C,E,A,D
3.C.AB.D.E

4 EACBD

Question Number : 19 Question Id : 3421237824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.4,C,D,B,E

2.B.C,E.AD

3 CA.B.DE

4. E.ACBD

Question Number : 20 Question Id : 3421237825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Concept Description
Disinformation [. |International suppression of contradictory ideas

Black propaganda | II. | Transmission of information may be or may not be false

White propaganda | III. |False information about the opposition

ola|w|s

Gray propaganda | IV, |Strategic transmission of lies

Choose the correct answer from the options given below:

1. A-L, B-IL, C-1IL, D-IV
2. A-11, B-II, C-IV, D-1
3. A-IIL B-1V, C-1, D-I

4. A-IV, B-1, C-I1, D-III

Question Number : 20 Question Id : 3421237825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. AL, B-II, C-I1, D-IV
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2. A-11, B-III, C-1V, D-1
3. A-IIL B-1V, C-1, D-1I

4. A-IV, B-1, C-11, D-III

Question Number : 21 Question Id : 3421237826 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

In an examination a student scores 4 marks for every correct answer and loses | mark for every
wrong answer. A student attempted all the 200 questions and scores 400 marks. The number of
questions he answered correctly was:

1. 60
2.100
3.120
4.150

Question Number : 21 Question Id : 3421237826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. 60

2. 100
3.120
4. 150

Question Number : 22 Question Id : 3421237827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the selling price of Rs 235 results in a discount of 6% on the marked price of an item, at what
price should the item be sold to offer a discount of 15%?

1.Rs 199.5
2.Rs206.5
3.Rs212.5

4.Rs 215

Question Number : 22 Question Id : 3421237827 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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1.199.5 7Y
2.206.5 0
3,212,590
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Question Number : 23 Question Id : 3421237828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

One term in the number series is wrong. Find out the wrong term?
325, 259, 202, 160, 127, 105, 94

1. 94

[
[ —
2
-1

Question Number : 23 Question Id : 3421237828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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325, 259, 202, 160, 127, 105, 94

1. 94

[

127

3202

Question Number : 24 Question Id : 3421237829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word *FLOUT’ is coded as *IIRRW”, then the word *CLING’
will be coded as:

1. ENKPI
2.EHLIK
3.FLILK

4. FILKJ

Question Number : 24 Question Id : 3421237829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. ENKPI
2.EHLIK
3.FLILK

4. FILKJ

Question Number : 25 Question Id : 3421237830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6 Pumps, working 12 hours a day, can empty a tank in 15 days. How many hours a day must 8
pumps operate to empty the tank in, days.

1. 13 hours
2. 14 hours
3. 15 hours

4. 16 hours

Question Number : 25 Question Id : 3421237830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 26 Question Id : 3421237831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"No one has ever been able to prove that psychic powers do not exists. Therefore it is proved that
psychic powers do exist. Identify the fallacy in the above arguments.

1. Appeal to ignorance
2. Hasty generalization
3. Slippery slope
4. Equivocation

Question Number : 26 Question Id : 3421237831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 27 Question Id : 3421237832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Two propositions are contradictory if

A. They cannot both be true

B. Of the pair, exactly one is true and exactly one is false
C. They can both be false

D. They cannot both be false

Choose the correct answer from the options given below:

1. Aand C only

[

. A, B and C only
3. B only
4. A. B and D only

Question Number : 27 Question Id : 3421237832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 28 Question Id : 3421237833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent?

A. Some non-intelligent animals are non-apes

B. Some apes are not intelligent animals

C. Some apes are non - intelligent animals

D. Some non - intelligent animals are not non-apes

Choose the correct answer from the options given below:

1. A, B and C only

[

. A and C only

(5]

.Aand D only
4. B. C and D only

Question Number : 28 Question Id : 3421237833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 29 Question Id : 3421237834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is arranged in the order of decreasing extension?

1. Mathematics, arithmetic. numbers, prime numbers
2. Prime numbers, numbers, arithmetic. Mathematics
3. Arithmetic, mathematics, numbers, prime numbers

4. Numbers, prime numbers, arithmetic, mathematics

Question Number : 29 Question Id : 3421237834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 30 Question Id : 3421237835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the arguments is fallacious because the middle term is pervaded by the absence of the
major term instead of ifs presence:

1. The hill has fire because it is knowable
2. Sound is eternal because it 1s produced
3. Sound s eternal because it 1s audible

4. Sound is quality because it is visible

Question Number : 30 Question Id : 3421237835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 31 Question Id : 3421237836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Web 2.0°, a second generation of the Internet, can best be described as:

. A software package developed by Microsoft and available at a discount to teachers

2. An approach to the Internet in which users can share thoughts, opinions and ideas in a free
and open forum such as blogs, wikis and podcasts

3. An approach to the Internet in which websites and apps can process information in a smart
human-like way through technologies like Machine Learning, Big Data, Decentralized

Ledger Technology, etc

4. Faster Internet for big business

Question Number : 31 Question Id : 3421237836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 32 Question Id : 3421237837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Each webpage is assigned a (n) , an address that identifies the location of the page on the
Internet.

. Internet Protocol (IP)
2. Uniform Resource Locator (URL)
3. Top-Level Domain (TLD)

4. Hyper Text Transfer Protocol (HTTP)

Question Number : 32 Question Id : 3421237837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W@?;mﬁ% -------- e ST  fob ol Zeveie W Uy @1 3(afRifd @1 UgaM & diel
U

1. 3T YICIPId (1)

). GHM GaeH 4R (URL)

3, 3= &40 & (TLD)

4. TR T IR JICIel (HTTP)




Question Number : 33 Question Id : 3421237838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
(File Extension) (File Type)
A | dox I. |Lage file
B. |.ipe II. |Video file
C. |.mp3 IIT. | MS-WOED file
D. |.mov IV. | Audio file

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-II, D-IV

3

. A-IIL B-1, C-1IV, D-1I

sl

. A-IV, B-1, C-III, D-II

4. A-III, B-IV, C-1, D-1I

Question Number : 33 Question Id : 3421237838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IIL B-1, C-II, D-IV
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. A-IILL B-1, C-1IV, D-1I

el

. A-TV, B-1. C-III, D-IT

4. A-II1, B-IV, C-I, D-1I



Question Number : 34 Question Id : 3421237839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true with reference to cybersecurity?

A. Incident response in cyber security involves identifying vulnerabilities and patching them

before an attack occurs
B. CERT-In acts as an early warning system for cyber threats and attacks in India

C. ‘Tor’ is an acronym for “The Onion Router’. which is a web browser that enables people to
communicate anonymously online to prevent bad actors from tracking their Internet activity
D. Using a Virtual Personal Network can help secure a network by encrypting the data

transmitted over it

Choose the correct answer from the options given below:
[. Aand D only
2. Aand C only
3.Band D only

4.Band C only

Question Number : 34 Question Id : 3421237839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 35 Question Id : 3421237840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L) represents a number L in base-M number system then identify the correct ascending order

of the following numbers A-D when converted to decimal number system

Choose the correct answer from the options given below:
.D,B,C.A
2.B,D,C,A
3.AB.C,D

4.D,B,A,C



Question Number : 35 Question Id : 3421237840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. (203),
B. (100001),
C. (114);

D. (1012);

Choose the correct answer from the options given below:

1.D,B,C,A
2.B,D,C,A
3.4BCD

4.D,B,A,C

Question Number : 36 Question Id : 3421237841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Radioactivity in drinking water can be caused due to pressure of naturally or anthropogenically
occurring radionuclides. Which one of the following is a naturally occurring radionuclides with a
possibility to contaminate drinking water?

. Uranium

2. Plutonium

3. Radon

4. Strontrum

Question Number : 36 Question Id : 3421237841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 37 Question Id : 3421237842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not released during an earthquake?
1. P - Wave
2. Q - Wave
3.5 - Wave

4. Love Wave

Question Number : 37 Question Id : 3421237842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YU & R FAfRId T i Tt av1 gl S gl § 2
1. Gl- 99 (P- Wave)
2. F.- dd (Q- Wave)
3. UY-dd (S- Wave)
4. 9999 (Love Wave)

Question Number : 38 Question Id : 3421237843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is used to measure and monitor air pollution?

1. RADAR

[-2

. SONAR
3. LIDAR

4. SODAR

Question Number : 38 Question Id : 3421237843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T VG 1 AU 3R AR S o fere e & 9 fdwer T fobar o g2
1. V3R (RADAR)
2. ¥R (SONAR)
3. IR (LIDAR)

4. TSR (SODAR)

Question Number : 39 Question Id : 3421237844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In nuclear reactors, ‘moderators’ are substances.

A. That slows down neutron

B. That limits the chain reaction

C. That helps to sustain the chain reaction

D. Without which chain reaction in most nuclear reactors would stop
E. Such as heavy water or D,O

Choose the correct answer from the options given below:

1.A,B.CandD only

I3

A, C,DandE only

[N

.B. C and D only

4. A.B and E only



Question Number : 39 Question Id : 3421237844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 40 Question Id : 3421237845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the level Carbon dioxide (CO,) during pre-industrial era?
1. 200 ppm
2. 280 ppm
3. 350 ppm

4. 420 ppm

Question Number : 40 Question Id : 3421237845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 200 ppm

(]

. 280 ppm
3. 350 ppm
4. 420 ppm

Question Number : 41 Question Id : 3421237846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The ancient grammarian Panini was a student at which of the following ancient places of
learning?

1. Takshashila
2. Nalanda

3. Sridhanya Katak

4. Odantapuri

Question Number : 41 Question Id : 3421237846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 42 Question Id : 3421237847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



One of the major recommendations of the National Education Policy, 2020, is the establishment
of for restructuring higher education in India.

. Science universities
2. Autonomous colleges
3. Technology clubs

4, Higher Education Institutions clusters

Question Number : 42 Question Id : 3421237847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

191 e i, 2020 1 HeH W U 9 Weell R A I e b TR
fi &l R G ¢:

Question Number : 43 Question Id : 3421237848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The major initiatives of the union government during the XI plan in the higher education sector
were:

A. Establishment of 14 world class universities
B. Diversion of funds to private universities better performance

C. Strengthening of science based higher education and research in universities
D. Restructuring of different councils

E. Financially supporting uncovered state universities and colleges
Choose the correct answer from the options given below:

[.A,B, Conly
2.A,C,Eonly
3.B.C.Donly

4.D, E only

Question Number : 43 Question Id : 3421237848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 44 Question Id : 3421237849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are public sector funding agencies for research in India?

A. TATA Trust
B. ICAR
C.ICHR
D. ICMR
E. Population Foundation of India (PFT)
Choose the correct answer from the options given below:
1. A, B, Conly
2.B,C,Donly
3.D.E only

4. A, C,E only

Question Number : 44 Question Id : 3421237849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 45 Question Id : 3421237850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

Forerunner college University

Muir Central College| I. |Lucknow University

Oriental College II. |Allahabad University

University College 1. | Aligarh University

olo|w|»

Canning College IV. |Panjab University

Choose the correct answer from the options given below:

1. A-I, B-II, C-IIL, D-1IV

3

. A-II, B-1II, C-1IV, D-1

sl

- A-IILL B-1V, C-1, D-II

4. A-IV, B-1. C-II, D-ITI

Question Number : 45 Question Id : 3421237850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. A-II, B-TII. C-IV, D-I
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-A-IIL B-1V, C-1, D-1I

4. A-IV, B-1, C-1II, D-III

Sub-Section Number : 3
Sub-Section Id : 342123311
Question Shuffling Allowed : No



Question Id : 3421237851 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

The Andaman and Nicobar Islands sitwated between 6° and 14° latitudes and 92° and 94
longitudes in the Bay of Bengal have been inhabited for thousands of years going back to the
Middle Palaeolithic age. Through the vast majority of this time the inhabitants of these islands
maintained their separated existence diversifying into distinct linguistic, cultural and territorial
groups. In the mid-nineteenth century CE, for the first time they came into sustained contact with
the outside world. Today, they are mainly consisted of the Great Andamanese tribes like the
Jarawa, the Onge and the Sentinelese and the Nicobarese consisting of the great Nicobarese and
the Shompens. Host to the tropical climate nourished by both the south-west and the north-east
monsoons, the Union Territory is at present divided into three revenue districts with Port Blair as
its capital.

Andaman and Nicobar Islands dwellers have migrated and settled down from various parts of
India and Burma as well. The culture of Andaman and Nicobar Islands is distinct and unique and
comprises mainly two types of inhabitants-Indians and Natives. The former are mainly from the
Indian Mainland especially from areas like Punjab, West Bengal, Tamil Nadu, Myanmar and Sri
Lanka. The Natives are what makes Andaman and Nicobar Islands different from other parts of
the country. They are the main reason why these islands have a wild aura about them.

Sub questions

Question Number : 46 Question Id : 3421237852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following communities has connection with the Andaman and Nicobar Islands?

1. Khasi
2. Santhal
3. Bodo

4. Jarawa

Question Number : 47 Question Id : 3421237853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following does not help the inhabitants to continue their distinctive identity in
Andaman and Nicobar Islands?

. Linguistic aspect
2. Cultural aspect

3. Territorial aspect
4. Nutritional aspect

Question Number : 48 Question Id : 3421237854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following groups of people of Andaman and Nicobar islands have migrated from
Indian mainland, Myanmar and Sri Lanka?

I Indians

2. Natives
3. Nagas

4, Marwaris

Question Number : 49 Question Id : 3421237855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Andaman and Nicobar Islands

1. 1s a cluster of small beatiful countries
2. 1s a cluster of several beautiful islands

3. is a cluster of few villages

4. 15 cluster of deserts

Question Number : 50 Question Id : 3421237856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Port Blair is a part of:

|. Kerala
2. Andhra Prasedh

3. Sri Lanka

4. Andaman and Nicobar Islands

Question Id : 3421237851 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 3421237852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 47 Question Id : 3421237853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 48 Question Id : 3421237854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 49 Question Id : 3421237855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 50 Question Id : 3421237856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Santali
Section Id : 342123106
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123312
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3421237857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 51 Question Id : 3421237857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-,

AT Ygiadl <|id 1Sdr URIE bl dic] X &) #HEEN?
1.3

SRS

[

4. HIGR

Question Number : 52 Question Id : 3421237858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“The ethnographer is an archaeologist who catches his archaeology alive” ﬂﬂ@f{ ]
131 AR ] AP DI

.59l TR
2, KD
3. gl

4. < AT

Question Number : 52 Question Id : 3421237858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 53 Question Id : 3421237859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 53 Question Id : 3421237859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1. SR ThoR
2. g4
3. 0T

4. HoR UTdel

Question Number : 54 Question Id : 3421237860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 54 Question Id : 3421237860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 55 Question Id : 3421237861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 55 Question Id : 3421237861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RN ST W T TG Rt 1R URE il ] e AR 3
AV GbTd GiguHIP UHISed U HlGR B URE! §igd a1 13 dr €
DD BT

1. 3T, Il feraR

2. B, 3fFl TG, A

3. 3. 19 T Hal
4. 3. GINGDI TG g1

Question Number : 56 Question Id : 3421237862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 56 Question Id : 3421237862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HISTS WP Y1 U= -9 ] b [ S[qH d glediard-nr
L. U1, I

2. 91 dle

3. A IgHH
4. Ul Oidhid BF

Question Number : 57 Question Id : 3421237863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 57 Question Id : 3421237863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 58 Question Id : 3421237864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 58 Question Id : 3421237864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 59 Question Id : 3421237865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 59 Question Id : 3421237865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 60 Question Id : 3421237866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 60 Question Id : 3421237866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 61 Question Id : 3421237867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 61 Question Id : 3421237867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 62 Question Id : 3421237868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 62 Question Id : 3421237868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SH el & D[ SMHISearard RR S
1. HIfRded AHER

2. A=Y BT

3. PIoll ol d oxcilH

4. HSUNHTY SR

Question Number : 63 Question Id : 3421237869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 63 Question Id : 3421237869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 64 Question Id : 3421237870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 64 Question Id : 3421237870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FAUTTMTT SR ST (87 1 Bl | fqTd, e 4T 3R TUSTS WId I
ST o Y RS 13 G S DG FHD

1. T SR
2. [T AHE

3. M el
4. T YT

Question Number : 65 Question Id : 3421237871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 65 Question Id : 3421237871 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Question Number : 66 Question Id : 3421237872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 66 Question Id : 3421237872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 67 Question Id : 3421237873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 67 Question Id : 3421237873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 68 Question Id : 3421237874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 68 Question Id : 3421237874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 69 Question Id : 3421237875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 69 Question Id : 3421237875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 70 Question Id : 3421237876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 70 Question Id : 3421237876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 71 Question Id : 3421237877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 71 Question Id : 3421237877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 72 Question Id : 3421237878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 72 Question Id : 3421237878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 73 Question Id : 3421237879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 73 Question Id : 3421237879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 74 Question Id : 3421237880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 74 Question Id : 3421237880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 75 Question Id : 3421237881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 75 Question Id : 3421237881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 76 Question Id : 3421237882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 76 Question Id : 3421237882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 77 Question Id : 3421237883 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Question Number : 77 Question Id : 3421237883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 78 Question Id : 3421237884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 78 Question Id : 3421237884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 79 Question Id : 3421237885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 79 Question Id : 3421237885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 80 Question Id : 3421237886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 80 Question Id : 3421237886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 81 Question Id : 3421237887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 81 Question Id : 3421237887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 82 Question Id : 3421237888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 82 Question Id : 3421237888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 83 Question Id : 3421237889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 83 Question Id : 3421237889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 84 Question Id : 3421237890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 84 Question Id : 3421237890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 85 Question Id : 3421237891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 85 Question Id : 3421237891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 86 Question Id : 3421237892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 86 Question Id : 3421237892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 87 Question Id : 3421237893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 87 Question Id : 3421237893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 88 Question Id : 3421237894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 88 Question Id : 3421237894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 89 Question Id : 3421237895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 89 Question Id : 3421237895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 90 Question Id : 3421237896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 90 Question Id : 3421237896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 91 Question Id : 3421237897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 91 Question Id : 3421237897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 92 Question Id : 3421237898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 92 Question Id : 3421237898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 93 Question Id : 3421237899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 93 Question Id : 3421237899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 94 Question Id : 3421237900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 94 Question Id : 3421237900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 95 Question Id : 3421237901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 95 Question Id : 3421237901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 96 Question Id : 3421237902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 96 Question Id : 3421237902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:
1.C,D,E,B,A
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Question Number : 97 Question Id : 3421237903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 97 Question Id : 3421237903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 98 Question Id : 3421237904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 98 Question Id : 3421237904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AR ¥ T 31hId fdbed[d] G2 G- e dl arard 1

1.A,C, B, E, D
2 C.ED.AB
3 EDECB &
4.8 B CDLE

Question Number : 99 Question Id : 3421237905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TH 3T 4l ] STUT HIGR b1 AIel-drae ST dbld Hreild 4

A. dixlct didlcd

B. MATH
C. TRd Bl
D. = 3HSTS
E. A
IR X UH ST fadbedld] 9e I Yelaid ddl 918 1:

1.A,B.C.D.E

2.B.C.D.AB

3.CEABD

4.D,A,B,E,C

Question Number : 99 Question Id : 3421237905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TH AT YA D] BTUTHIGR b dIel-dr-H W7 ddbld Yed H:

A. dRT 9191
B. TRH

. foRar Bel
D. A 31818

E. Ml

AR ¥ T 31hId fdbed[d] G2 G- e dl arard 1

1.A,B.C,D.E
2.B,C,D,A,B
3.0 EA88B.D
4. DA, B, E, C

Question Number : 100 Question Id : 3421237906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y AT 3HHeg G & BT GIGR T T el IRE1 ddbld Jreid 4:

AT SRl

B. AIGR 4l
c. feer msd
D. UIgH ATl
E.fIR]

TR X TH DI [ ed|d] G Tl eI el a1s1d H:
LA B E B
2.B,E.C,A,D
3L.EADEB
4. D E.A B C

Question Number : 100 Question Id : 3421237906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TH b1 HHISe U & B9 HGR T G gl YA ddid e &

AT SR

B. ATGR Hall
c. ferermed
D. HIgl Hrdll
E.fIR]

IR R T I fddhetid] Ge Wl YA dell 91s1d 1:

LA B E AR
2.B,E,C.AD
3.0A,DEDB

4.D,E,A,B,C

Question Number : 101 Question Id : 3421237907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

THE Gt ] BT TGR 3ThH UHT dhid drel-ardid 9red

A. GOITS GREI
B.

C. [l 3S1P
D. SIS ST fgUR

E. HIFH
AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:

1.C, B, E, D, A

2B R.AB

2. 00A, BCE

4 B.E.C.A.D

Question Number : 101 Question Id : 3421237907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T g1 & BT HGR 3THTH AT dhld Algl-drdid 9reiid I:

A. GATS GREl
B. Q RIG!

C. 3l 3P
D. AN TS f@UR

E. HIAI!

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

1.C, B, E, D, A
2.E.E,D.A,B
3. DA B CE
4. B.E.C,A D

Question Number : 102 Question Id : 3421237908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3{[HIfer Pdip SHH YA Alel-d-H ddbld Trelid H|

A. STgaTet HY (ffeardh)
B.feag Iy
. S 918 (W)

D. IdTd giaRIH
E. dd- $UR RIS
AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:

1. B C E A B

2E. DB, C.A

3. EDAB

4. B, A C,D. E

Question Number : 102 Question Id : 3421237908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SfH|fera] BldId SIHH WRAT dATgl-d™H dhld Tielld 9|

A. JIgATe G (TfGard)
B. {5 Ig
C. ST 91g (YR)

D. FdTd g%Rd
E. Jd= AR RIS

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

LB CE E.A B
2. E,. D, B.CA
O EDAB
4.B,A,C,D,E

Question Number : 103 Question Id : 3421237909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TIYTH &| IS ATHH YH dhId All-drdH g H:

A, T

B. UM UIHH
C. o RS
D. SRS Y™
E. T4g=l

AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:

1. DB, C,AE

22EAD.B.C

3.CD.B.E A

4.B,C,E,A,B

Question Number : 103 Question Id : 3421237909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TI4TH D] IS SAHThH AT cidbld dlgl-drd[H Ireid H:

A, Tl

B. GIH UIHTH
C. I RS
D. BRATS UG
E. G-l

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

1., B, CAE
2EA D BE
DB EA

4.B,C,E,A,B

Question Number : 104 Question Id : 3421237910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UH 3BT HITCR Plar S YA ddbTd dlel- TrH WIS bi:

A. J=1Y S
B. 3G YdTeil
. SL3mI g
D. STqaTel 91

E. 315X 741G 31

AR Y T 3THI [dhed[d] 4e WH Y ddl a8l 1:

1. B EAC B

2.B.AEED

3.CBAED

4 A B,C,D.E

Question Number : 104 Question Id : 3421237910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



UH 31 H[HIferd] bdTd S YT dbld dlgl- ardH WIed $id:

A, SR=EAY 9%
B. 3fcaid= Ydreil
C. Sl 3|9
D. S 47

E. BTG THTG 07

TR X T 3T fadhetld] G T grard el d1ard 1:

1.D,E.A,C,B
2.B.AE.C.D
3.CBAED
4. 84: B, C. D E

Question Number : 105 Question Id : 3421237911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YTl UIRY B Tel-dE-H Ied 4|

A%Eﬁﬂ
o
C. Y
D. fbad
E. ATl
AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:
o8 CB DL E
2. AEEDB
3.6 B A DE
4. B,C,D,A.E

Question Number : 105 Question Id : 3421237911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Y=dTclld IRy ] TEI-IE=H Troid d

A. oW
B. SI9GID
C. ]
D. fbad
E. A=l

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

1.LA,C.B.D.E
22D, A,C.E;B
3.BADE
4.B,C,D,ALE

Question Number : 106 Question Id : 3421237912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A1 SIid fob1 & SMfcH S Uld ¥ BHET a2

A. B

B. 3R

C. afsar
D. faRgrs
E. Agdl

AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:
1.UhTA3RB
2. UhIB 3R D
3. Th-C 3RE
4.UH-D 3R E

Question Number : 106 Question Id : 3421237912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HIH 1 S1d T T 3MGH ST Ul 3 Bl
AT

B. 3RR

c. afsar

D. faRElg

E. Hgdl

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

1.UhT A MR B
2. UHAB IR D
3.UhAC 3RE
4. UhD 3R E

Question Number : 107 Question Id : 3421237913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3BT TId1G g (S A Jelgd HHI?
A. ST
B. U-R
C. Al
D. 3l

E. 31
AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:
1.UbhTA 3R B
2. UHB AR C
3. UhIB 3R D

4. THC AR E

Question Number : 107 Question Id : 3421237913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3T e ] 1 AT 3o4d BN

A. STTE[™
B. UAR
C. A3
D. 3il

E. 3{FT

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

1.UhT A MR B
2. UHAB AR C
3. UhB 3R D
4. U C ARE

Question Number : 108 Question Id : 3421237914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

31 & Y d Hidgd I M HHIb?
A. g&2H
B. OO
c. 31 ga=
D. HgR
E. 379

AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:
1.THT AR C

2. UhdA3IRE
3. ThdB 3R D
4. THC AR E

Question Number : 108 Question Id : 3421237914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



bt &) Y d Hidgd 3 E/E BHIfdh?

A. ga&xH
B. OO
c. 31 9=
D. HJglR
E. 337

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

1. ThdA 3R C
2. Uhd A IR E
3. UhB 3R D
4. U C ARE

Question Number : 109 Question Id : 3421237915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DT & AFTHIP HHURM glic=l B

A. 3UHT
B. GH®
C. & UH
D. Y
E. SHUN
AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:
1.THT AR C
2. UhdB 3R D
3. UHAD R E

4. THTA3RE

Question Number : 109 Question Id : 3421237915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



b Tih & AHdMIG HHURM Blids! HHEP
A. 3UHI
B. UH&
C. ¥UH
D. %Y
E. DU

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

1. ThdA 3R C
2. UHAB IR D
3.UhAD 3R E
4. Uhd A RE

Question Number : 110 Question Id : 3421237916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i1 [oh=1 SIRAT YT HHI?
A. ¢dR
B. 338R BMHAR
c. Tt
D. BAMl
E. 9N gIdH
AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:
.UBT AR C
2. UHAB AR D
3. Th-C 3IRD

4. THAD IR E

Question Number : 110 Question Id : 3421237916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



31 fob IRAT UIYTH HHEID
A. §E|H
B. 338N GHR
c. [l
D. M
E. 9T gTdH
ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:
L.ThT AR C
2. UHAB IR D
3.THAC 3R D

4. UHID IR E

Question Number : 111 Question Id : 3421237917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HiPTichd IRAT S g RIRR RS gt Wi SHe

A. STS1 AP

B. R

C. Sl T s

D. dlgldad fER

E.fRdS

AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:

1. ThTA3RB

2. UhAC IR D

3. UHB AR E

4. THAD IR E

Question Number : 111 Question Id : 3421237917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3T dRAT SIS IR MRk g Wie S

A. Sl ald

B. a7

C. S T ISl

D. digldaH R

E.fRdS
ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:
1. Uhd A 3R B

2. UhAC IR D

3. UGB 3R E

4. UHID IR E

Question Number : 112 Question Id : 3421237918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR GIfeR A 3H D1 dlid IRA1 U (PR U 3 SFIid?
A. fefdbH
B. T[]
C. S A
D. qfid
E. U%d

AR Y T 31hI [dh e[| He WH YA Jdl Jr8rd 1:
1.Ub9 A 3R B
2. THB 3R C
3.UbC 3RE
4.THID AR E

Question Number : 112 Question Id : 3421237918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SR1 IR TR A 3114 dlfdh-] SRAT U RBR [GHH A B2

A. fgfda
B. el
C. 994
D. 4%
E. Ulodd

AR ¥ U 31 fddhed[d] Ge WH Y ddl aTsrd 1:

1. UhA 3R B
2. UHAB 3R C
3.UHAC 3RE
4.UHD 3R E

Question Number : 113 Question Id : 3421237919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3{ihTid+1 dRAT UTYTH YRWUS Y[ Ydi RigYH Tl S1TH DM
A, ddlE
B. Gliagd ARAl
c. fgxd]
D. Udldp
E. 3RUTd
AR I TH 31 fdbedic] 4 WH Yeiard Jdl 9161 1:
1.UhTA BIRE
2. UhAB AR C
3.UHAC 3ARD

4. THAB AR D

Question Number : 113 Question Id : 3421237919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3fihTich-] IRYT UIUMH ARWUS GH[d Ydf Rigyd @l S1UIdh S
A ddIE
B. Gidgd IR
c. fexa
D. Udlh

E. SRl

AR 3 T 3{hIq fdbetld] 9 WH e ddl 9s1d 1:

1.Ubd A, B ARE
2. UhB 3R C
3.Uh C 3R D
4. TH-B 3R D

Question Number : 114 Question Id : 3421237920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HD 1 i il Higiiare Hale ¥ TRE dilaeivs 3 (qaR o B! eI i)
AT

B. UM

AACREIRF

D. T

E. IR Al

R X G IR o] e W el el a1rd W
1.UHTA R C
2. T C 3R D
3. THTB 3R D
4. W AHRE

Question Number : 114 Question Id : 3421237920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



1 i foTcTehl HizfidTeh Sl ¥ VRS Fllaaivg 3 [9aR o Bl ST o)
A

B. UM

c. forgail Hisf

D. TN

E. Tav1 A

AR 3 U9 31 fpet|d] T T Yrard ool a185d 1

LU A R C
2. TH1C IR D
3. WB 3R D
4. WA ARE

Question Number : 115 Question Id : 3421237921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DT 9gT & §9H TR Yob] dig /™M

B. 3T 9[gT

C. grdl digT
D. S R dlg
E. JHYTS dlg]
AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:
1.THT AR C
2. Uhd A IR E
3. UHAC AR E

4. THAB IR D

Question Number : 115 Question Id : 3421237921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AIDTIeh g1 &l IH AR Xb] dlgmm

D. \Jﬂi-lﬁﬂﬂilﬁl
E. SHYTS dlg]

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

1.THTA3RC

2. Uhd A IR E
3. Uh9C 3RE
4. UHIB AR D

Question Number : 116 Question Id : 3421237922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

31 | Ul R TP T DR

A. RIATA! SIHHdRED S|

B. R dafTd 3|

C. ARTTeH IS 3|

D. Rl ¥ GigdRa] T T 31|
E. ARMEIC 915 3d1s [ 3T

AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:
1.THI A, BARC
2. UhAdB.C IR D

3. ThAC.D 3R E

4. THTA.DIARE

Question Number : 116 Question Id : 3421237922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



31 ] U1 R ¥Th T S

A. AR SIHHARTED ST

B. RIAIA! dafTd 3|

C. ARETE IS 3|

D. HMRIIcH ¥ g T G131
E. ARCl 91 3dIs [ 3T

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

. ThdA. B3R C
2. UhAB, C AR D
3. Uh4C, D IRE

4. UHTA.DRE

Question Number : 117 Question Id : 3421237923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

D1 | Hdlcil SIS X1P T D

A. At Y 0, W, 9 U TR
B. YdTeil ¥ ¥ 3R 9 UlE1G 341% Tglg X dieHll

C. Gd1 bdd ddd HTSTS HTH 3|

D. YdTell SISRIET 31S1S T 31| ]

E. 3 3R 3 & &I Wi UgIY 3R dIdl X gl
AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:

1.THI A, BARC

2. UhAdB.C IR D

3. UhIC.DIRE

4. THTA. C3RE

Question Number : 117 Question Id : 3421237923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



31 ] HdTell TSTS XD T HHEI

A. GaTclt Y20, §, 9 U T1H3T|
B. YdTcil ¥ T 3R 9 UdTG 341 Tgq X drgHll

C. UHA1 pdq dAMdD SIS TATH 31|
D. YdTell SSRIET SIS UG |

E. S 3R 3 G HIE1G Wid UgIY R dIal I |

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

1.UhT A, B3R C
2. UhAB, C AR D
3.UhC. D 3RE
4. ThT A, C 3HRE

Question Number : 118 Question Id : 3421237924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3T Bl UHie 3l MH g2l HHEP

A. AT 9RA
B. Ydl Y&
c. JYH
D. UHIYg
E. o4l

AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:
1.Th9A. B3R C
2. THIB.C3RD
3. UhIC.DIRE

4. THTA B3RE

Question Number : 118 Question Id : 3421237924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3] DI YT [T TETH Gl ST

A. Ja19RA
B. ¥dI TeA
c. JYH
D. UHIYg
E. o4l

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

.ThTA. B3R C
2. UhAB, C AR D

3.UH9C, D IRE

4. UHTA BIRE

Question Number : 119 Question Id : 3421237925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3] & Yided RIS WP Al HHE?

A R =mH
B. 41 SAH

C. 313 UGl
D. 3SR W[ UelH
AR CACRSIIS;

AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:
1.THI A, BARC
2. UhAdB.C IR D

3. ThAC.D 3R E

4. THTA.DIARE

Question Number : 119 Question Id : 3421237925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3] B Hidgd RIRSS 1P ddhdl B

A [R=mF

B. Y SIH

C. BI$ UIRg

D. TSR W[ WgTH
E.EH[D e

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:
1.Ubd A, B3R C
2. UhAB, C AR D
3.UHC, D IR E

4. UHTA.DRE

Question Number : 120 Question Id : 3421237926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3IDT B 8IS PIe-l AP T SR

A. SAIfEAaTS SIgH a1 d1eH]
C. Hidhd dISTT SIH[b 3T

D. BISId A TREN TA1H3|
E. S g[S drgHl

AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:
1.THI A, BARC

2. UHhB, C AR D

3. ThAC.D 3R E

4. THTA.DIARE

Question Number : 120 Question Id : 3421237926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A, I I 91 AT

B. HIfCAErd gHIS digHl

C. 3idbd dISTT SH[B 3

D. BlSId HIdl ¥ TREN HATH 3|
E. A IHIS deTl

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

.ThTA. B3R C
2. UhAB, C AR D

3.UH9C, D IRE

4. UHTA.DRE

Question Number : 121 Question Id : 3421237927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U1, W[ I <gdid 3fid[ {1 IRA1 T gl SHEP
A. YdTcll Th U=y
B. SIIfd HRIA
c. foRe R
D. RIR&IH
E. SIARA foAdt fefer
AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:
1. ThTA3RB
2. ThAB IR C
3. UHAC AR D

4. THAD IR E

Question Number : 121 Question Id : 3421237927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



0T, W I <3 ] fh- IR T gdl P

A. Ydidll U gR=g
B. ST ORH

c. fpRe iR

D. RI&IH

E. SIARA fadl ferer

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

1.UhT A MR B
2. UHAB AR C
3.UhC 3MRD
4. UhD 3R E

Question Number : 122 Question Id : 3421237928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[P [ &l F1GIdl HIUST MM 3 SIRYT ST 31 UTH SHEId?

A, fasrg

B. So1Y 4]
C. Uad &=l
D. s 813R

E. Hed (89
AR I TH 31 fdbedic] 4 WH Yeiard Jdl 9181 1:
1. U A 3R B
2. U C IRD
3.Uh9 C 3R E

4. THd A3RE

Question Number : 122 Question Id : 3421237928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3D [ & d1alell S-UST M 3 SRUT 15T 3 U SHIHA?

A, faog

B. SuHTY T
C. Ued =t
D. i 3R

E. Hed sl

TR 3 T 3{1hI fdbetld] 9 WH e ddl 9s1d 8:

1.Uhd A 3R B
2. UHAC IR D
3. C 3RE
4. ThH A MR E

Question Number : 123 Question Id : 3421237929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3D Tidh IRYT UIYTH IS I91 UH[d A3hdll W[ STUTD BN
A, gR4Yl
B. HMI
c. ddre

D. I[34RG Sl
E. URIIHT 918 9181

AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:
1. UhTA 3R C
2. ThIB 3R C
3.Th-C 3R D
4. UhTAIRE

Question Number : 123 Question Id : 3421237929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3T ST T IS4 UH[d ASIhl Gl SUTD ST
A, OGR!
B. B-1HI
C. ddre

D. 39 Sl
E. URIIHT 913 918l

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

1. ThdA 3R C
2. UHAB AR C
3.UhC 3MRD
4. Uhd A RE

Question Number : 124 Question Id : 3421237930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3{Ip1 | QT Ul 3fl. JifET Sl Bl

A. AITS 9l
B@—cﬂ@?ﬂ

D. Eﬁ‘s*fb‘l%?ﬂaﬁ
RARELE|

AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:
1. UhI A, B3R C
2. THIB.C3RD
3.Uh-C, D 3RE

4. THAB.DIARE

Question Number : 124 Question Id : 3421237930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3fiehT ] Gt Ui 311, SIS SHlclih HHEP

A. TRTS T
BWW

D. @SEFIE:FIH?[
ARELE|

ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

. ThdA. B3R C
2. UhAB, C AR D
3.UH9C, D IRE

4. UHIB. D IRE

Question Number : 125 Question Id : 3421237931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HIUSTH ¥ 311 D[ UGT SR JATp ATl SIAIp 3T

A, d¥d
B. gD
C. HIdD |
D. ¥
E. URSIH
AR X U 311 fdbedld| Ge WH Yeiare el d181d 1:
1.THT A, B, AR C
2. UhAdB.C IR D
3. UHAC, D AIRE

4. THTA. C3RE

Question Number : 125 Question Id : 3421237931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HIUST X 31T ] UTT R YT dlddl gD
A. TR
B. oUID
C. HIdD |
D. 1
E. \EIRG“F
ATdR X TH I f[ddhed[d] He WH e dal d1a1d §:

1. ThdA.B. 3R C
2. UhAB, C AR D
3. Uh4C, D IRE

4. TP A, C3IRE

Question Number : 126 Question Id : 3421237932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g 1 Giad gt a3
.-
_ |olifdd gamEE | 1 |Usds el
B. |3ddg . |vEg
c. |ugfaag 1L |AfeHIaD]
D. |Uydriare IV. |HeeR

AR X T 311 fdbcdld] ge W el ddl 181 1:

1. A-1I, B-1, C-IV, D-1II

[

- A-IIT B-IV, C-1, D-1I

(5]

.A-L, B-IIL, C-II1, D-1IV

4. A-IV, B-1I1, C-II, D-I

Question Number : 126 Question Id : 3421237932 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

gl 1 Giad gt 1 [ds @
.-
A |Sifad oomEE | 1 |usas emeR
B. |3ddg . |vEg
c. |ugfaag 1L |AfeHIaD]
D. |Uydriare IV. |HeeR

AR X T 311 fdbcdld] ge W el ddl 181 1:

1. A-1I, B-1, C-IV, D-1II

[

- A-IIT B-IV, C-1, D-1I

(5]

.A-L, B-IIL, C-II1, D-1IV

4. A-IV, B-1I1, C-II, D-I

Question Number : 127 Question Id : 3421237933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g 1 Hiad gt 1 ids o
%zgl qEI
[Ted ST AT 41 {76
A |gusT I |ARA
B. |3%d . |Ted
c. |7is 1L |eEgpiedn
D |@FE@ A | v |fifdedi

AR X T 311 fdbedld] G G- e dal d181d 1;

1. A-III, B-IV, C-I, D-II

(i

. A-1L B-1, C-1IV, D-III

el

. A-1, B-1I, C-III, D-IV

4. A-IV, B-1II, C-II, D-I



Question Number : 127 Question Id : 3421237933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl 1 Giad gt 1 [ds @
EI qE
Ted ST 41 Sdr1 |9ie
A |gusT I |ART
B. |34 1. |Tea
c. |7is 1L | yHpisar
D. (@ AT | 1v. |Fifdei

AR X T 311 fdbcdld] ge W el ddl 181 1:

1. A-III, B-IV, C-I, D-II

[

. A-II, B-1, C-IV, D-III

(5]

.A-I, B-II, C-III, D-IV

4. A-IV, B-1I1, C-II, D-I

Question Number : 128 Question Id : 3421237934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g 1 Giad gt 1 ids o

g1

A1

g TS Udd
Ekd L |SE S TS 0
EaEg
qq

. |§9g SHEHY A8 0ad
L |FeHHaTHS Isvad

H[Pp IV. | dTH J-II:J!'EH"H*I:I'_J -l5 HedY

AR X U 3T fdbedld] Ga T Yerdid dal 9101d | -

1. A-IV, B-III, C-II, D-I

olo|w|s

(]

- A-IIL B-IV, C-1, D-TI

L]

. A-L, B-IL, C-1IL, D-IV

4. A-I1, B-1, C-IV, D-III

Question Number : 128 Question Id : 3421237934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gt 1 9i9d gt o fiers o
AT Tt
T e g
A | 1 |9 & e Uy
B. |®l® I. |99 SHEE A8 Uad
c. |wg 1L |FSHHEHTS Aredad
D. |3® IV. |EN AHTHE 1S TdY

TR X TH I f[dedd] G& GiH Geiard dol STaia H -

1. A-IV, B-1II, C-II, D-I

[

- A-IIT, B-IV, C-1, D-1II

(5]

.A-L, B-II, C-1IL, D-1IV

4. A-1L, B-1, C-1V, D-III



Question Number : 129 Question Id : 3421237935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g 1 Giad gt 1 ids o
A1 I
HATE 3[gH URgd
A |dRIES I |gauHy
B. |3MmuEKR I |fEreE
C |[ARE®Er | 1 |ddey 99"
D. |EMI3MEE | IV |HHYRG 999

AR X U 3T fdbedld] Ga T Yerdid dal 9101d | -

1. A-IV, B-III, C-II, D-I

(]

- A-IIL B-IV, C-1, D-TI

L]

. A-IL, B-L, C-1IV, D-III

4. A-1, B-11, C-III, D-1V

Question Number : 129 Question Id : 3421237935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g 1 Giad gt 1 ids o

A1 I
HHM™ S[dH g
A |dRIES L |gaaad
B. |3MUER I |fEreE
C |[ARE®Er | 1 |ddey 99"
D |gEsfie |1V |FHuRa 9a9g

AR X U 3T fdbedld] Ga T Yerdid dal 9101d | -

1. A-IV, B-III, C-II, D-I

(]

- A-IIL B-IV, C-1, D-TI

L]

. A-IL, B-L, C-1IV, D-III

4. A-1, B-11, C-III, D-1V

Question Number : 130 Question Id : 3421237936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl 1 Giad Q=T o {drs o
T I T
A |vogieR e | L[TeE
B. |Hgcdi gAl I. |gREa
C. |vads 1. |3ig
D. |FRren v ||

AR X U 3T fdbedld] e Wi Yeidid ddl 181 H:

1. A-III, B-IV, C-I, D-II

[

. A-L, B-1II, C-II, D-IV

sl

. A-II B-1, C-IV, D-III

4. A-IV, B-11, C-III, D-I

Question Number : 130 Question Id : 3421237936 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

gl 1 Giad gt 1 [ds @
T I I
A |SORHIEG | L |TTEd
B. |#gredt aat I. |ofEa
C. |UHd< 1. | 3iig
D. |FRrar v, |2fEH

AR X U 3T fdbedld] e Wi Yeidie ddl 1914 3:

1. A-IIT, B-1V, C-1, D-1I
2. A-1, B-III, C-II, D-IV
3. A-II, B-1, C-IV, D-III
4. A-IV, B-11, C-II1, D-I

Question Number : 131 Question Id : 3421237937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A [Eiad gHt 1 {ds o
gnfftl i1
A (TS 1 |AregErd
B. [offfHaTE | IL |TgdEH
C. |+aqH 1L | T/
D. |@weie™ IV. | SRawid

AR X T 311 fdbedld] G G- e dal d181d 1;

1. A-I, B-III, C-II, D-IV
2. A-IIL, B-1IV, C-I, D-I
3. A-Il, B-1, C-IV, D-III

4. A-IV, B-11, C-III, D-I



Question Number : 131 Question Id : 3421237937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A r[Eiad gEt 1 Has o

%
§

HIHG T | o |9
L. (A
eiard IV. | 9Ra&id

ola|w

AR X U 3T fdbedld] Ge AH e ddl 1814 1;

1. A-I, B-III, C-II, D-IV
2. A-IIL B-1IV, C-1, D-TI
3. A1l B-1, C-1V, D-III

4. A-IV, B-11, C-III, D-I

Question Number : 132 Question Id : 3421237938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g 1 Giad gt 1 ids o

gwg:[ I
A |Tud 1 | o guo
B. |fay=my . |
C. |9He I | HTARDR
D. |4HgE IV. | ProaudE

AR X U 3T fdbedld] Ge AH e ddl 1814 1;

1. A-IIT, B-IV. C-1, D-II
2. A-1V, B-11, C-11I, D-1
3. AL, B-III, C-1II, D-IV

4. A-I1, B-1, C-IV, D-III

Question Number : 132 Question Id : 3421237938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl 1 Giad Q=T o {drs o
:1\321 11
A |aod 1 |=ifeed adur
B. |fawmy 1. |®IaE
C. |A¥T I | PIATPR
D. |4HE IV. | STeausEl

TR X UH ST b ed]d] GG Wi Gerang dal STa7d H:

1. A-IIT, B-IV, C-I, D-II
2. A-IV, B-11, C-III, D-I
3. A-I, B-III, C-1I, D-IV

4. A-1L, B-1, C-1V, D-III



Question Number : 133 Question Id : 3421237939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g 1 Giad gt 1 ids o
=
A |wiEl I |3feraaE
B |3RE 1. |vuuiigdang
c. |afeEg I1I. | gaiare
D. |35 T Rasy | Iv. |srPidarg

AR X U 3T fdbedld] Ge AH e ddl 1814 1;

1. A-I, B-III, C-II, D-IV

(]

- A-IIL B-IV, C-1, D-TI

L]

.A-ILL B-1, C-1V, D-III

4. A-IV, B-11, C-III, D-I

Question Number : 133 Question Id : 3421237939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g 1 Giad gt 1 ids o

I 11
el 1 | 3EeaR
IR I. |voiigdaEs

NIEIERES 1L | HGRdG
. © =gy | 1v. | 3mepfaare

AR X U 3T fdbedld] Ge AH e ddl 1814 1;

1. A-1, B-IM, C-II, D-IV

olo|w|s

(]

- A-IIL B-IV, C-1, D-TI

L]

. A-IL, B-L, C-1IV, D-III

4. A-IV, B-11, C-III, D-I

Question Number : 134 Question Id : 3421237940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl 1 Giad Q=T o {drs o

T 1
uRgd

A |FEd

I |HOEH R SIS Hrdl

B. |Tdimur 1. |&RM &t
Cc. |diivs 111 | Toet 3R digiaie 1yl
D |fy IV. | 718 ARSI 3R g1 BT

TR X UH ST b ed]d] GG Wi Gerang dal STa7d H:

1. A-III, B-IV. C-1. D-II

[

. A-II, B-1, C-IV, D-111

(5]

.A-L, B-II, C-1IL, D-1IV

4. A-IV, B-1I1, C-II, D-I



Question Number : 134 Question Id : 3421237940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g 1 Giad gt 1 ids o

1
IR
L |3EHE HR BTEd Byl

A |thEd

B. |Wimur 1. |®HRE f&d
c. |dfieius 11 | a9 gudl SR ddlars o
D. |y IV. |3T1S TS 3R IS -1 BIUl

AR X U 3T fdbedld] Ge AH e ddl 1814 1;

1. A-IIT, B-IV. C-I, D-II

(]

CA-IL B-1, C-IV, D-III

L]

. A-L, B-IL, C-1IL, D-IV

4. A-IV, B-1II, C-II, D-I

Question Number : 135 Question Id : 3421237941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g 1 Giad gt 1 ids o

'xgﬁ}rl '\gtﬂ;;l
A |9REER L |l i
B |gAISGRel | I |o™
C. [FETCIiia | IL | 39" @mEE)
D. W@ 9FRY | IV, |[TTaE

AR X U 3T fdbedld] Ge AH e ddl 1814 1;

1. A-II. B-III, C-IV, D-I

(]

.A-TV, B-1IL, C-1, D-TI

L]

. A-IIL B-1, C-IL, D-IV

4. A-1, B-11, C-III, D-1V

Question Number : 135 Question Id : 3421237941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl 1 Giad Q=T o {drs o
?P;’rl '\gﬁ;I
A |YRMAER L |Sledie
B. |[g@@erRer | I [ym
C. |IEIICTT | UL | ITarg (TIHmE)
D. |EEe 9FRY | IV, [TEE

TR X UH ST b ed]d] GG Wi Gerang dal STa7d H:

1. A-IT, B-1II, C-1IV, D-I

[

- A-IV, B-1II, C-1, D-II

(5]

.A-IIL B-1, C-IL, D-IV

4. A-1, B-1I, C-11I, D-1IV



Question Number : 136 Question Id : 3421237942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g 1 Giad gt 1 ids o

gﬁl il
A |URRESRS | L |ggFdrR
B | eEH | I (9
C. |TIRmiGgg | UL |SRAR
D. |HieH fheep | IV, |&rax

AR X U 3T fdbedld] Ge AH e ddl 1814 1;

1. A-III, B-I, C-IV, D-II
2. A-IV, B-II1, C-11, D-1
3. A-L B-II, C-III, D-IV

4. A-I1, B-1II, C-1V, D-I

Question Number : 136 Question Id : 3421237942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g 1 Giad gt 1 ids o

ggx I
UREERG | 1 |gga e
TEYEET | I (T

TREGETE | L |&RTE
HiTH 5% | IV, |arax

AR X U 3T fdbedld] Ge AH e ddl 1814 1;

1. A-III, B-I, C-IV, D-II

olo|w|s

(]

. A-1V, B-1II, C-1I1, D-1

L]

. A-L, B-IL, C-1IL, D-IV

4. A-I1, B-1II, C-1V, D-I

Question Number : 137 Question Id : 3421237943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gt 1 9i9d gt o fiers o
ot T
A |gFTHE™ L ||
B. |UgHER Ul I =5
C. |l e ga urdi | 1L |[SErh
D. |&T< Ha™H V. | el

TR X UH ST b ed]d] GG Wi Gerang dal STa7d H:

1. A-IIL, B-1, C-1V, D-1I

[

. A-II B-III, C-1, D-IV
3. A-1. B-IV. C-1I. D-III

4. A-IV, B-11, C-II1, D-I



Question Number : 137 Question Id : 3421237943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g 1 Giad gt 1 ids o
A |HGFTHEH L ||
B. |UgHER Urdl 1L ||
C. |dlaT 1 ga Ukl | . |Fign
D. |91 Ha™ V. | et

AR X U 3T fdbedld] Ge AH e ddl 1814 1;

1. A-III, B-I, C-IV, D-II

(]

. A-IL, B-IIL, C-1, D-IV
3. A-L. B-IV, C-IL, D-III

4. A-IV, B-11, C-III, D-I

Question Number : 138 Question Id : 3421237944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g 1 Giad gt 1 ids o

NEGRAEUTE | 1 |G bl
ot FrafeuR | 1. |Gt ast

M paRE AR | 1L [gudt Ord

St SiHF WIg TR | IV, |IHaeE @

AR X U 3T fdbedld] Ge AH e ddl 1814 1;

1. A-I. B-IV. C-II, D-III

olo|w|s

(]

.A-TV, B-1IL, C-1, D-TI

L]

. A-III, B-II, C-IV, D-1

4. A-II, B-1II, C-1, D-IV

Question Number : 138 Question Id : 3421237944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl 1 Giad Q=T o {drs o

ﬁI '\'13.&]1
NEERAUTE | 1 |9 SH
oft STafHRIR SrgdT | 1L |fadi st
MbIREART | 1L (gusl 97
it S g R | IV, |IHaS e,

TR X UH ST b ed]d] GG Wi Gerang dal STa7d H:

1. A-I. B-IV, C-II, D-III

ololw|s

[

- A-IV, B-1II, C-1, D-II

(5]

. A-I, B-I1, C-IV, D-1

4. A-11, B-111, C-1, D-IV



Question Number : 139 Question Id : 3421237945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gt 1 9i9d gt n fiers o
I 11
qﬂ*gw aaﬁjm
A [EEEEE UREES | T 1952 @y

BIARYa! B que | I | 1988 @
faR Wara snfepa &t | 101 [ 1938 WA

Y V. | 1948 @Y

AR X U 3T fdbedld] Ge AH e ddl 1814 1;

1. A-II. B-III, C-IV, D-I

ola|w

(]

-A-I B-1I, C-IIT, D-IV
3. A-IV, B-1, C-1I, D-III

4. A-IIL B-IV, C-1. D-II

Question Number : 139 Question Id : 3421237945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g 1 Giad gt 1 ids o

I I
‘Iﬂ'ﬂ“ Eﬂﬁﬁm
WA S SREEE | L[ 1952 W

B[ARYdl [ep qU | 1. | 1988 @A ¥
faR Wara snfepa &t | 101 [ 1938 WA

Y V. | 1948 @Y

AR X U 3T fdbedld] Ge AH e ddl 1814 1;

1. A-II. B-III, C-IV, D-I

olo|w|s

2. A-I. B-1I, C-III, D-IV
3. A-IV, B-1, C-1L, D-1IT

4. A-IIL B-IV, C-1. D-II

Question Number : 140 Question Id : 3421237946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl 1 Giad Q=T o {drs o

-
SEEH D | L | 2004 FEY
RATERME | I [ 1943 G
IR L. |1991 WA

S B IV. | 2009 GTA X

ololw|s

TR X UH ST b ed]d] GG Wi Gerang dal STa7d H:

1. A-I. B-IV, C-III, D-1II
2. A-11, B-1, C-1V, D-IIT
3. A-IV, B-III, C-11, D-1

4. A-II1, B-1I, C-1, D-1I



Question Number : 140 Question Id : 3421237946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g 1 Giad gt 1 ids o
I I
gﬂ%ﬁ@q SUTT HTH
A |SEEEfEES | L[ 2004 IEY

IR URE | I [1043 T@R
IR 1L | 1991 WA
ST BT IV. | 2000 @AY
AR X U 3T fdbedld] Ge AH e ddl 1814 1;

1. A-I. B-IV. C-III, D-II

ola|w

2. A-11, B-1, C-1V, D-111
3. A-IV, B-II1, C-1I, D-1

4. A-III, B-1II, C-1, D-II

Sub-Section Number : 2
Sub-Section Id : 342123313
Question Shuffling Allowed : No

Question Id : 3421237947 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (141 to 145)

Question Label : Comprehension



TH TP R0l Al TG HTa- TSg1d H AR TH ATHH Haeit 119 deil T 1

ST BITaId W G RS WA < God Ry o] o v dgfer ¥
I 913G 3] R 1 Selg 1930 Wl ¥ G offT1 I 311 7] &8]SR 31707 By 219
AR A gie) o] fHe HFed U AR S Teita gl aiige Qo 1953 3 @1
R M 3R 1956 ¥ TS Td R 1973 3 foRaTel sfHigg U S 9laR
BT S SRl T SR 1981 3 I P R SR 1982 ¥ ) SAST® o
WICR B | S UaT I T URAT 1985 3 391 G SHeh[g, URAT 1991 X[ W Ul
nﬁmﬁmmﬁmmwwﬁwm@ﬁwmwwm
fore 3R faR W AT | URE 1985 % STAR 1R URAT 1986 < 3 AT I8 U TGy
el S g & g R 4R Hiaeq fdis diid Sl ¥ dIghH| 3R 22 R
1992 TEelIeh 131 Tot YRell &) 7 71 I ¢ A |

Sub questions

Question Number : 141 Question Id : 3421237948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[H H I A5 &l bl {941 d 3Md HHEP
. 3ISe
RIIIC]

3. 1HH
4. A

Question Number : 142 Question Id : 3421237949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

uife HHlge gt &l 3l
1. Tt 18T
2. faR =11
3. MMelTS el
4. Fa@t =gl



Question Number : 143 Question Id : 3421237950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST gIYer & Iq 61 3 digh D
1. Hrd
R K
3. Bl

4. S5Tdlg

Question Number : 144 Question Id : 3421237951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

13T SRV AT SH[d-4RT Sl BN
1. ARTHRART

AECEICIBIET

3. JAMD

5

[

4. cllgl veelkIHlg

Question Number : 145 Question Id : 3421237952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AR’ ] dq MR
1. TITHTH gt

O g

3. 1Y

4. BIEAl

[

Question Id : 3421237947 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)



Question Label : Comprehension

TH ST S{aaR0 Ul TG DT TSg1d H R TH P Paeit v ool TH A

ST GGl WA ] RG0S TIAId ¥ Qo Rigym forel e e aigpferan o
I SISSE SMTd] R 1 SCS 1930 W ¥ g o1 S ot ] 8] SR 7T B e
IR A @ @) i W1 U R S T ael aise T 1953 ¥ @
R SHHI SAAEM 1956 3 TS T 3R 1973 ¥ foRaTRT 3{HISE G 911 WeR
m|mwwmwmﬁmmmwmm 3IS1P Bl
TICR S| Sty T Sf[er Tt SR 1985 ¥ Zo1 ] D1, TAT 1991 8 18 UIel
T R 40 %A1 71 el $Fg g S[g8 d 94 S SeR T S aRan T R
forRT 3R ok 71T T o | SRA7T 1985 3 XTHAR 3R AT 1986 3 39 T4 3977 UG
a1 SHH BING Gl A for R Wiagd [bdis i PIH! ¥ dIge| R 22 3R
1992 FEefieh 131 Tot YRell &) 7 T i ¢ e

Sub questions

Question Number : 141 Question Id : 3421237948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[ AMH 9Tl |75 &l 3T T8 o e 3B
1. 3MFIS®
2 M

3. 1HH
4. 3@

Question Number : 142 Question Id : 3421237949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

uifge 3MHISe gl gl 3T Bl
1. et S5l
2. faR 918t
]I KSR
4. Fa@t fa=g1



Question Number : 143 Question Id : 3421237950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SU BIYal & dd dbl ¥ digh R
1. {dd
2. %X

3. Bl
4. S31d]q

Question Number : 144 Question Id : 3421237951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

13T IRV AT S[A-URT SH[bl BN
1. ARTHRART

AEEEICIBIE?

3, §AMHD

5

4. dlel 3geRMHIP

[

Question Number : 145 Question Id : 3421237952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AER’ ] I HHEP
L. T gt
2. 93] gt
3. 1Y
4. IRl

Sub-Section Number : 3
Sub-Section Id : 342123314
Question Shuffling Allowed : No
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